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[Approximate yet reasonably close!] APPENDIX No. 1

The center or equator of our ‘MILKY-WAY GALAXY’ passes through the magnetic influence of the twelve constellations
This takes 25,625 years (26,000 rounded-up figure). The full 360° cycle which equates with 30° for the time taken to pass
through each constellation zone. One degree of rotation = 72 years and 2,160 years per constellation.

Diagramatic view of Milky Way Cycle as it turns through the twelve zodiac segments ofmagnetic fields.
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The Precession of the Equinoxes or the Zodiac Cycle or The Plutonic Age of 25,625 years.

The 25,625 years DIVIDED by the 12 CONSTELLATIONS = 2135 years for each sign ... approx.




